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path

[
goal = ™

data = $stdin.read
data.split(*¥n™).each{ |line]|
if /~e (.+)/ = line then
path << $1 _
elsif /2o (.+)/ = line then
path << $1 _
elsif /21 (.+)/ = line then
path << $1 _
elsif /Am (.+)/ = line then
goal = $1 _
elsif /¥d¥d:¥d¥d/ = line then _
elsif /0 +([¥Q-t)¥(-+¥)¥[.+¥]/ = line then
path << $1
elsif /00 /7 = line then
path << "0 0O "
elsif /00 /7 = line then
path << " 0O 0O " _
elsif /0 +(¥D+)(¥d+) O / = line then
path << $1
end

}

flag = false
im=""
ret_path = path.reverse
path._each{|elem]|
print im
print "(" if flag
print elem
print ")" if flag
im = " d "
flag = !flag

print " - "
print goal
flag = true
ret_path.each{|elem]|
print im
print "(" if flag
print elem
print )" if flag
im = " d "
flag = !flag

}
puts
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